5-6 Systems of Equations Word Problems 2

"I can write and solve systems of equations modeling
real world applications"

Take out HW! (Page 12-13)

Warm Up: Identify which is the BEST method to use to solve each of the systems of equations algebraically;
you don’t have to solve for the solution! Write either substitution or elimination.

December 6, 2019

1) 6x-y =11 2) y=2x+5 3) x-y=6
2x + 3y =7 y=3x-1 y+x=2
Metnod: EliMmination Method: SUDSTitUTiON Method: Elimination
xX\y=6
X +y =2
Solve the following system of equations- PSS

y=‘ix-:3>
y=2MW)+32 2%+3=G y
y£ 2+; 2 =2 #
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Warm Up: Which ordered pair satisfies the

system of equations? 3x =8
T | x :><= 2
(== K :LT
f505 XtY=3
(2) (25,05) ¢ Y::R X=36

5+
3) (£5,-05) a".?? 5255'

(=<3) =




5-6 Systems of Equations Word Problems 2 December 6, 2019
Page 16 I can write & solve systems of equations.

(1) Celluloid Cinema sold 150 tickets to a movie. Some of
these were child tickets and the rest were adult tickets. A
child ticket costs $7. 75%nd an a adult ticket cost $10. 25“'If
the cinema sold $1470 worth of tickets, which system of
equations could be used to determine how many adult
tickets, a, and how many child tickets, ¢, were sold?

F-I-’t.u +¢ =150

)(l‘aa)t

la+c= 130

T.79a + 1025 = 1470
70 ) a 4+ ¢ = 1470
Joc = 150 7.75a + 10.25¢ = 150

1470
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(2) Aidan and Andrew went to the bakery to buy desserts. Aidan
bought 2 packages of cupcakes and 2 packages of brownies for
Andr‘ew bought 4 packages of cupcakes and 3 packages of
brownies fo Let x equal the price of cupcakes and y equal

the price of browai
Wr‘rl‘e a syxm cribes the given situation
+2N I'+§

N\cuw 4x+ 3y= 24
Find the exact cost of one package of cupcakes and the exact

cost of one package of brownies. B(‘o wnjes
"\'}é - -2 cost §4
-+ 3\1 = ? L
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